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Their proof is a proof and we place the field in their possession

OVERVIEW

X117 27 taught that all those who do not have a 7P, nevertheless if they bought
proof that the field is theirs, their proof is valid and we place the field in their
possession, except for a robber that his proof is no proof, and we do not place the
field in his possession. Mo01n discusses the need for the duplication; 7°X7 10X and
172 77w 17vn. They seemingly mean the same thing; the field is theirs.
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It appears to the X''aw= that the reason "7 mentions both of them, 7x1 1nxn,
and 77°2 77w TR, 1S -
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Since he wanted to teach (in the &9°0) regarding a robber that 7989 NR9 PR

and Y792 7w PTIRYR PN, therefore in the Xw1 he also mentioned both of them even though
it was not necessary —

Mmoo explains why by 1913 it was necessary to mention both:
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For there by 171 it was necessary to mention both; 7°X7 10X PX and 17191 PR

1772 77w, for if 7" would have taught only 7°89 X9 PR, and not mention X
172 770 PTRYA -
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I would have said that the ruling of 7°K9 1R 7R is only regarding that we do

not place the field in his possession however, he has the money —

The reason we would assume that we are [also] discussing a case where we know there was a
transfer of money is because -

! See 10X 71"7 0"2wA that the entire Xw™ is superfluous; it was taught only as an introduction to the X5°0, and since
in the X950 it was necessary to mention both; regarding 7°87 1n»X7 7R and 17°2 77w 77°0YA PRI (as NdoIN will explain
immediately), therefore he mentions them both in the &2 even though it was not necessary.
2 We may have certainly assumed that, if 7"7 would only say 17°2 77w 77¥n PX; but we could have assumed that
even if he would say just °X7 10X PX.
3 This means (as M20N continues to explain) that the case of 7913 is [even] where the o7V saw the actual transfer of
money (from the 17713 to the 71A1) and nevertheless °%7 10»X1 PX; we will not allow the 1213 to keep the field (for we
will assume that it was a forced sale), however the 1713 is entitled to get his money back (even if 192 myn 17 71 K?
o°7v), for either there is proof that he gave it to the 71, or the 2131 admitted that he was paid. This is what we would
assume if all 7" stated was 7°R7 INPRI PR,
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That we would not have assumed the reason X7 X7 X (that the sale is
invalid) is because that if he would not admit to the 7712 that he sold him the field,
the 1211 would have brought him and his donkey to the official (as x175 27
explained) -
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Rather we would have explained the reason why the sale is invalid is because
the rule is 12t 12T ™7 X® Pan ¥w9n,5 even when the robber counted the

money to the 511 in the presence of 0>7v. This is how we may have understood the ruling of
1", had he only said 7°X7 107R7 PX -
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Therefore 71"7 said both; 7°X7 10°X7 X and 172 77w P7RYD TR, SO NOW WwWe

understand that 71989 10989 °R at all, that he even does not receive the money -
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For the reason of this ruling by a 171 is because we assume that if the seller

would not have admitted to the 1713, etc. "mnws 7 mno 7°% v M. The admission is
coerced and therefore meaningless.

In summation; had 7"9 just said one (either &7 ™R PX or T7°nyn TX), we could have
mistakenly assumed that we are [also] discussing a case where money was transferred in the
presence of 0°7v, however since (we are mistakenly assuming that) the rule is 2°21 18?2 12 17190
*1°21, therefore the rule will be that the 1213 does not receive the field but he receives his money
back (even if 2>7¥ °192 myni 12 mIn R?). Therefore 1" mentioned both rules, so now we know
(from 171°2 77w 77YR 1X) that the 1913 does not receive the field, and therefore 7°X7 1N»X7 PR
teaches us that the does not receive the money back (in a case where 2>7¥ *192 myni 71 RY), the
reason is that we assume that he did not pay money, and the reason why the 5121 admits that he
received money is like X375 27 (that 21 % >7TWR7 WY °R7). However if 0>7¥ *192 nynn man the 1913
will retain the field, since >1°2r 71°2°271 17201 17750,

NvOIN continues:

4 This means, ‘he (the buyer) hung him (the seller) up on a tree, and (because of this coercion) he sold the
property, the rule is the sale is not valid. We will assume that this was a coerced sale, since the buyer is a 1773 and
therefore it is never a valid sale (regardless if money was seen transferred, or not). However the 1711 receives his
money back (regardless if money was seen transferred or not, since the 7731 admitted that he received money).
5> However this is incorrect, for as the X3 states shortly that 7" maintains that *1°ar 321 17an L.
® When 71" stated 172 77w 770V TR, we know that the 1713 does not get the field, the addition of 7°%7 11X X is
that even though there are witnesses (or a Jvw) that the 131 admitted to receiving payment (however no one saw the
actual transfer of funds), the 1213 cannot even receive this money back, for we say this admission was coerced as 27
X170 said; 21 72 P77 XY . However a coerced sale with payment is a valid sale. We can therefore not be
discussing a case where 0’7y saw the transfer of money. See ‘Thinking it over’.
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And it appears to the X'"aw=9 that this word 3912 which 1"9 stated (W27 1710
7°X7) it also refers to the son who did not separate from being supported by his

father, and a woman who was not divorced’ that by them too "21 "X Jn»X~.
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And even though the X713 later states regarding [a woman in her husband’s
assets] that she has no 7°X1 for we say, he wanted to reveal her money —

mooIN responds:
=M1 9D NA TIY XY HANTIND NINIPINT 195

Since we have just established the ruling of 7"9 that 7°X7 11X7 is (only) in a case
of admission (however it does not apply in a case where Mmyni1 12 min), therefore
the concept of 9137 9193 is not applicable —

Another approach why 17X 10X even by 1wan1 XOW TWK:
$IP2T NN N IMTIY 9IN NIT 1IN3 299 XN 297 10D X207 119PY ¥RWUNRT 1

And additionally, it seems later that 3''% and 1'% maintain that we do not say

that he sold it because of "¥aT X7 137 99a%, but rather it is a good proof, therefore we can
maintain here that 7°°X7 10X applies also to an WD XOW OWR.

SUMMARY

The double ruling that 787 1N»X7 7R and 172 77w P7MYA PR teaches us that not
only does the 1713 not receive the field, but he also does not get back any money
(where it was merely % *7X).

7 The Xn™12 on R,1n states, TR 5 INWS 377 957 WD TWRY PoRw 32 ; indicating that a P51 X7w 12 and an XYW AWK
7waan1 do not have a pin, like an ©RY X, Therefore when 77"'1 stated that 121 77°X7 WR°27w 191, he meant not only
the 07K 12X but also the nwK 12.
8 X, X1.
° A married woman cannot have a 7pm in her husband’s assets, for he can say, ‘I let you use it for your support’
(mmn, etc.). Furthermore even if she has a "vw which states that her husband sold her this field for this amount of
money, that does not prove anything, for we can say that the husband was suspicious that she had money hidden
away from him (to which he is entitled to), therefore he made as if he is selling her this field so she will reveal this
money.
19 The question is how can the X"2wA state that the ruling of 7" applies to an 7WwW"an1 R?W AWK, that 7°%7 7% v, when
the X713 later states that she has no 787 since we say *¥a7 R 17 ™9237?!
" mpoIn just explained that the rulings of 7" is only in a case where the X7 was that the 7131 admitted that he sold
the field (and that he received payment) and the same is by the 07X 123X that we are only discussing a case of where
they admitted that the 0 X1 72X bought the item (but not that there is proof that there was a transfer of funds [no one
saw any transfer]), therefore we can include a woman 7w73n1 2w, meaning that if the husband admitted that he sold
her the field, she gets to keep it, for since we do not know of any money which exchanged hands, the reason of %3
11 does not apply (there was no reason for the husband to admit to the sale) and the "X is valid.
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THINKING IT OVER

It seems from MooIn that the way we know that not only does the 7712 not receive
the field, but also that he does not receive his money back, is from the fact the 27
X117 said two things; 17°2 77w 1P7nvn X (he does not get the field), and N»™X7 X
7% (he does not get the money back).!? According to this, 7" should have stated
it in the reverse X7 10K PRI 172 77w 7RV TR, why does he actually state X
7781 10°X7 (first, and then) 172 77w 77Rvn PRI

12 See footnote # 6.
13 See nwn nbm.
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